Do these problems.

(1) Aber selling 189 shirts, a shopkeeper had 78 shirts left.

How many shirts did he have at first?

He had shirts at first.

(2)

This chart shows the number of people at a party.
How many people were there at the party?

|

Men 175
Women &é
Children 224

TR

There were people at the party.

(3)

The table shows the points scored by Alan.
What are his total points for the three subjects?

—b

| English 83
Mathematics 76
Science Q2 i

T

His total points for the three subjects are

22



Eﬂ. Fill in the blanks.

:

(1) The watermelon weighs kg g.

(2) The pumpkin weighs _ kg g.

(3) The watermelon is kg g heavier than the
pumpkin.

C. Fill in the blanks.

(1) The popaya weighs oz.
(2) The lemon weighs oz.
(3) The lemon is oz lighter than the papaya.

31



Multiplication Table of 3

A. Maich.

3 more than 18
3 more than 15

3 more than 21
3 more than 12

3 more than 24
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